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DM*.dat VS Time (ch1-3=X-Arapuca w/o window)

Doping2_Monitoring_Internal01_Ch3-2020-02-26 21-52-46.dat

> fit
= find T_slow
=> plot Graph T_slow vs Time

There is a starting point (before doping) Test2_Protodune_LAr_Ch4-2020-02-07_11-02-39.dat

Doping2 Monitoring01_Ch3-2020-02-26 17-25-27.dat (External)

-> fit
= find T_slow
=> plot Graph T_slow vs Time



External: Doping 2 all
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AVG_WF_D2M1_Ch3

Standalone SSP data | AVG WF | Ch3
Before doping | LAr | 07-feb 11am

DM31 20-feb 7pm

DM32 21-feb 2pm

DM33 21-feb 5pm

DM34 22-feb 5pm

DM35 24-feb 11am
D2M1 26-feb 05pm
D2M2 26-feb 10pm
D2M3 27-feb 10am
D2M4 27-feb 04pm
D2MS5 26-feb 08pm
D2M6 27-feb 11am
D2M7 28-feb 09am
D2M8 28-feb 12am
D2M9 28-feb 06pm

D2M10 29-feb 04pm +225h total +545h

+00h total +320h
+19h total +339h
+03h total +342h
+24h total +366h
+42h total +408h
+142h total +462h
+147h total +467h
+159h total +479h
+165h total +485h
+169h total +489h
+172h total +492h
+194h total +514h
+197h total +517h
+203h total +523h
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External: Doping 2

1072

26-29-feb

AVG_WF D2M1_Ch3

Standalone SSP data | AVG WF | Ch3

D2M1 26-feb 05pm +142h total +462h
D2M2 26-feb 10pm +147h total +467h

D2M9 28-feb 06pm +203h total +523h
D2M10 29-feb 04pm +225h total +545h
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External:
Doping 2
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AVG_WF D2M1_Ch3

J

1

=1

1

I

1

Standalone SSP data | AVG WF | Ch3
Before doping | LAr | 07-feb 11am

D2M1 26-feb 05pm +142h total +462h
D2M2 26-feb 10pm +147h total +467h
D2M9 28-feb 06pm +203h total +523h
D2M10 29-feb 04pm +225h total +545h

D2M19 05-mar 04pm +345h total +665h
D2M20 05-mar 08pm +34%h total +669h
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External:
Doping2
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T _slow

T slow VS Time cht
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The last Internal run Ne4 (05-mar 03pm)
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Internal:
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AVG_WF_int11_Ch1

Standalone SSP data | AVG WF | Ch1
Before doping | LAr | 07-feb 11am

Internal11 15-feb 11am
Internal12 15-feb 03pm
Internal13 18-feb 12am
D2_Internall 26-feb 10pm
D2_Internal2 27-feb 06pm | trsh 100->70
D2_Internal3 03-mar 07pm
D2_Internal3 05-mar 03pm
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T slow VS Time cht
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T_slow VS Time chi
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